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PHILOSOPHY — GENERAL
Paper : GE/CC-2
(Western Epistemology and Metaphysics)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1. Answer the following questions (any ten) : 1x10
(a) Which of the following philosophers says that there are three kinds of ideas?
(i) Locke (i) Spinoza
(i) Descartes (iv) Hume.
(b) “Our mind is a tabula rasa at the time of birth”— whose statement is this?
(i) Kant (i) Locke
(i) Ewing (iv) Leibnitz.
(c) “Ideas are faint copies of impressions”— who said this?
(1) Hume (i) Descartes
(iii) Berkeley (iv) Plato.
(d) Tknow that, the earth moves round the sun— In what sense the word *know” is used here?
(i) In the sense of propositional knowledge (i) ' In the sense of knowing how
(ifi) In the sense of knowledge by acquaintance
(iv) Nonc of thesc.
(¢) Which of the following conditions is not a condition of propositional knowledge?
(i) Truth condition (1) Beliet condition
(iti) Religious condition (iv) Justification condition.

() Who aroused Kant from dogmatic slumber?

(i) Locke (i) Barkeley

(i) Mill (1) Hume.
(g) “Cogito ergo sum™— who said this?

(1) Descartes (i) Leibnitz

(i) Berkeley (iv) Locke.
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There is no difference between primary qualities and secondary qualities— Whose view is this?
(i) Socrates (i) Berkeley

(1i) Aristotle (iv) - Plato.

Who opines that “All ideas are innate™?
(i) Locke (i) Plato

(iii) Leibnitz (iv) Descartes.

Mental states and physical states are two aspects of the same underlying substance— which school
of Philosophy upholds this view?

(1) Rationalism (ii) Parallelism
(i) Interactionism (iv) Realism.
An example of synthetic a priori proposition is

() Man is a rational animal (i) Snow is white
(i) 24+36=60 (iv) Goldis yellow.
What is the name of Hume’s theory of Causation?

(i) Representative Realism (i) Regularity theory

(iif) Entailment theory (iv) Interactionism.

2. Answer the following questions (any five) : Sx5

(a)
(b)
(c)
(d)
(e)
(N
(2)
(h)

Explain with examples the different kinds of the word ‘know".

How does Hume distinguish between impressions and ideas?

Distinguish between Naive Realism and Representative Realism.

Make a distinction between analytic and synthetic propositions.

Explain, in brief, the view that sense-experience is the only source of knowledge.
“Essec est percipi”™ who said this? What is the significance of this statement?
Explain, in brief, the entailment theory about the relation between cause and efYeet.

Explain, after Descartes, the dualism concerning mind and matter.

Answer the following questions (any two) :

(a)
(b)

()

(d)

Explain and examine Kant's Critical Theory regarding the origin of knowledge. 10+5

Critically examine Locke's representative rcalism. Does the Representative Realism pave the way
for Idealism? —Discuss. 1243

“Cause is the immediate and invariable antecedent of the effect™— Discuss this view about the
relation between cause and effect. s it satisfactory? Give reasons for your answer. 8+7

Give a critical explanation of Parallelism as a theory of mind-body relation. 10+5
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